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Note: Figure in bracket indicates marks of question. Aftempt any two questions.

Q.1  What is cost accounting? Explain the cost classification in detail with examples. [15]
Q.2 What are the advantages and limitations of cost accounting? [15]

Q.3 From the following information calculate: (1) Economic Order Quantity, (2) Ordering
Level, (3) Minimum Level, (4) Maximum Level, (5) Average Stock Level, (6) Danger

Level, (7) Safety Stock level [15]
Annual Consumption 5,000 units

Per unit cost %.20

Ordering cost . 200 per order

Carrying cost 10% of cost

Average consumption per week 55 units

Maximum consumption per week 75 units

Ordering time 2 to 3 weeks

Maximum time for emergency purchase 5 Days

Q.4 a) Explain the term materials and types of materials. [06]
b) Explain the reasons for labour turn over and its remedies. 109]

Q.5  Ina factory there are three production departments A, B and C and Two service departments

X and Y. The details about the expenses are as under. [15]

Monthly Expenses: 3.

Power 45,000

Stores overheads 12,000

Lighting 6,000

Staff Welfare Expenses 9,600

Depreciation 27,000

General Overheads 4,500

Repairs and Maintenance 5,400

Rent and Taxes 18,000

A B C X Y

Direct Wages (%.) : 28.000 | 24,000 | 20,000 | 4,000 | 4,000
Direct Materials (%.) 12,000 10,000 | 4,000 6,000 | 4,000
Numbers of workers 20 15 15 5 5
Electricity(Killo wait) 1,600 1,200 { 1,200 400 600
Light Points 10 15 15 5 5
Value of Plant 2,00,000 | 1,20,000 | 80,000 | 40,000 40,600 .
Space Occupied(Sq. Mt) 80 60 60 20 20
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Q.6
Q.7

Q.8

Show the distribution of overheads and also distribute service department’s expenses to
production departments under step ladder method.

Department X =~

Department Y

Explain the classification of overheads. [15]
Why the profit as per cost and financial accounts differs from each other. [15]

Prepare the statement of cost from the following particulars of production of 3,000

tons. [15]
Z.
Cost of materials 2,40,000
Salaries (Fixed) 1,80,000
Wages (Fixed) 3,60,000
Factory Expenses 90,000
Rent, Rates and Insurance 30,000
Selling Expenses 90,000
General Expenses (Fixed) 60,000
Sales ‘ 12,00,000

The sales manager of the company estimates the sales during next year will be 4,000
units. Prepare statement showing the estimate cost for 4,000 units and the sales price
per unit to earn 20% profit on selling price. The following changes have been
expected:

a. Rise in price of raw material by 25%

b. Wages will up by 10%.

¢. Other expenses will remain same.
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